What do | need to be ablke
o do?

By the end of this unit you should be. able to:
= Simplfy any given ratio

= Share an amount in a given ratio

= Solve radtio problems given a part

Soltions should be modelled, explained and
solved.
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“For every 3 datg of ran there ore A days of an” — when ths happens twce the ratio becomes 64

Peuwords

Katio:a statement of how two numbers compare

EqualParts: dl parts i the same. proportion, o a whok shared equaly
Proportion: a statement that fiks two ratios

Order:to place anumber in a detemined sequence

Part: a section of a vhok

Equivent: of equal valie

Factors: ntegers that mutiply together to get the original vabe

Scde: the comparson of something dran o s actual sze

Order is Important
“For every dog there are 2 cats’
- Dogs: Cats h h

|2
The ratic has 1o be writlen n the
same. order as the information is
aven.
eq 2 | would represent 2 dogs for
everu | cat. DK

Sharing a whole into a given ratio

James and Lucy share £350 n the ratio 54
Work out how much each person earnns

Model the Question James
James: Lucy
3:4 B
- [ —
Lucy
Find the vale of one part £350- 7 - £50
Whole. £350
7 parts lo share belween D ore part
(3 James, 4 Lucy) - £90

Put back into the question

.)ams 3 x £50 = £150
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ng 4 x £50 = £200

James: Lucy

x 50 5 4
150:£20
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% Ratio as a fraction
Trees
Trees: Flowers =
5, =
Flowers
‘ There. are. 3 parts for trees ‘ Fraction of trees
Number of parts of in grouph 3 %
Total number of parts

16}
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Tree parts 3 + Flower parts 7 = 10

Finding a vale gdiven |n (or n: 1)

nside a box are blue and red pens rn the ratio 51
If there are 10 red pens how marny blue pers are
there?

Ratio |n (or n:1)

This 8 asking you to cancel down until the part
indicated represents |

Show the ratio 4:20in the ratic of In
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This side
ci,ues:Uon 4 ;10 has to be
states that dvided by
this part 4 too—to
has to be keep in

[ onit proportion
Th@refore *H* the. n parl does not have to be an infeger
Divide by 4 for this type of question

Model the Question
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Blue pens
5. T __ Diameter The ratio of a circles
0o vrt cod pere One onit circumfererce to its
o diameter
Put back into the question
Ble  Red Ble pers = 5 x 10 = 50 pers
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| There are 50 Blue Perns I . ‘0 . ‘00 . ‘OOO ['he two rectangles are similar.
Dravi and interpret scale diaarams mm em m km
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